
6053 6053.5 6054 6054.5 6055
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

6359

6359.5

6360

6360.5

6361

6361.5

6362

6362.5

6363

ru
n

run:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6361}



6053 6053.5 6054 6054.5 6055
cyclenum

94−

93.5−

93−

92.5−

92−us
l_

1X
usl_1X:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

us
l_

4a
Y

usl_4aY:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

65

65.2

65.4

65.6

65.8

66

66.2

66.4

66.6

66.8

67

67.2

us
l_

4e
X

usl_4eX:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

43.5

44

44.5

45

45.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

34.5−

34−

33.5−

33−

32.5−

us
l_

12
X

usl_12X:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

6359

6359.5

6360

6360.5

6361

6361.5

6362

6362.5

6363

ru
n

run:cyclenum {run == 6361}



6053 6053.5 6054 6054.5 6055
cyclenum

123−

122.5−

122−

121.5−

121−

us
r_

1X

usr_1X:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

5.5−

5−

4.5−

4−

3.5−

us
r_

4a
Y

usr_4aY:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

159

159.5

160

160.5

161

us
r_

4e
X

usr_4eX:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

52

52.5

53

53.5

54

us
r_

4e
Y

usr_4eY:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

37.5−

37−

36.5−

36−

35.5−

us
r_

12
X

usr_12X:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

6359

6359.5

6360

6360.5

6361

6361.5

6362

6362.5

6363

ru
n

run:cyclenum {run == 6361}



6053 6053.5 6054 6054.5 6055
cyclenum

17518

17518.5

17519

17519.5

17520

us
l_

co
il1

usl_coil1:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

3587.2

3587.4

3587.6

3587.8

3588

3588.2

3588.4

3588.6

3588.8

3589

3589.2

3589.4

us
l_

co
il3

usl_coil3:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

7961.6

7961.8

7962

7962.2

7962.4

7962.6

7962.8

7963

7963.2

7963.4

7963.6

7963.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

1838−

1837.5−

1837−

1836.5−

1836−

us
l_

co
il6

usl_coil6:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

14033.5

14034

14034.5

14035

14035.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

6359

6359.5

6360

6360.5

6361

6361.5

6362

6362.5

6363

ru
n

run:cyclenum {run == 6361}



6053 6053.5 6054 6054.5 6055
cyclenum

13087.5−

13087−

13086.5−

13086−

13085.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

2430.8−

2430.6−

2430.4−

2430.2−

2430−

2429.8−

2429.6−

2429.4−

2429.2−

2429−

2428.8−

2428.6−

us
r_

co
il3

usr_coil3:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

9879

9879.5

9880

9880.5

9881

us
r_

co
il4

usr_coil4:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

1927−

1926.5−

1926−

1925.5−

1925−

us
r_

co
il6

usr_coil6:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

16800

16800.5

16801

16801.5

16802

us
r_

co
il7

usr_coil7:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

6359

6359.5

6360

6360.5

6361

6361.5

6362

6362.5

6363

ru
n

run:cyclenum {run == 6361}



6053 6053.5 6054 6054.5 6055
cyclenum

437.5−

437−

436.5−

436−

435.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

72−

71.5−

71−

70.5−

70−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

21.6

21.8

22

22.2

22.4

22.6

22.8

23

23.2

23.4

23.6

23.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

472−

471.5−

471−

470.5−

470−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

90.5−

90−

89.5−

89−

88.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

21

21.2

21.4

21.6

21.8

22

22.2

22.4

22.6

22.8

23

23.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6361}



6053 6053.5 6054 6054.5 6055
cyclenum

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

175.4

175.6

175.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

36

36.5

37

37.5

38

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

9.4−

9.2−

9−

8.8−

8.6−

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

184.2

184.4

184.6

184.8

185

185.2

185.4

185.6

185.8

186

186.2

186.4

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

26.5−

26−

25.5−

25−

24.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

7.4−

7.2−

7−

6.8−

6.6−

6.4−

6.2−

6−

5.8−

5.6−

5.4−

5.2−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6361}



6053 6053.5 6054 6054.5 6055
cyclenum

238−

237.5−

237−

236.5−

236−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

83−

82.5−

82−

81.5−

81−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

5.5

6

6.5

7

7.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

447.5−

447−

446.5−

446−

445.5−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6361}

6053 6053.5 6054 6054.5 6055
cyclenum

6359

6359.5

6360

6360.5

6361

6361.5

6362

6362.5

6363

ru
n

run:cyclenum {run == 6361}
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